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1) PART A General Paper

Question No. 1 / Question ID 908004 Marks: 2.00

The following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 5
year period from the year 2015 -16 to 2019-20. Based on the data in the table. answer the questions that follow:

Vs Net National Income (in Lac  |Per capita Net National Income (in
Crore rupees) thousand rupees)

:1:_.2 = 122 95

‘}g 16- 136 105

‘}g o 151 115

fg k- 167 126

';;g L 177 132

What is the percentage increase (%) in per capita Net National Income during 5 years (i.e 2015-16 to 2019-20 )?

1.~ 38.94%
2. ~48.24%
3.~30.61%
4. ~42.40%

i1 21 71 arfereet § o 2015-16 9 2019-20 T 5 TY D A1 & SR HR Bl Had AT 31T (ARG BRIS &Y H) SR ideaiad
Frae i S (69T w0 ) i € § | afere 3 faw G st B SR o A9 g e e & 9 &

- aa TP o (@re  |wfdaiad FHaa aFE o @SR
DS B H) 9 H)

2015-16 122 95

2016-17 136 105

2017-18 151 115

2018-19 167 126

2019-20 177 132

5 aN1 (214l 2015-16 ¥ 2010-20 ) Ufceafed Faw APt 2 # fvd wfawrd (%) i< §%°

1.~ 38.94%

2.~ 48.24%

3. ~30.61%

4, ~42.40%

O 1
]

O 2 (Chosen Option)
2 (Chosen Option)




Question No. 2 / Question ID 908005 Marks: 2.00

The following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 5
year period from the year 2015 -16 to 2019-20. Based on the data in the table. answer the questions that follow:

Vs Net National Income (in Lac  |Per capita Net National Income (in
Crore rupees) thousand rupees)

:1:_.2 = 122 95

‘}g 16- 136 105

‘;g o 151 115

fg k- 167 126

';;g L 177 132

Assuming that the per capita Net national Income grows beyond the yvear 2019-20 at the average annual rate of increase (%) of the period
(2015-16 to 2019-20) . what will be its value (in thousand ) at the end of the year 2020-21 7

. 135.68
. 138.35
. 14017
.143.34

=1 1 71 ATt § a9 2015-16 9 2019-20 T 5 I8 D A & SR YR Bl (Haa AP 1 (@@ B1s T8 H) $R uideafad
o T 31T (F9IR w7d 7) <9 T § 1 Tiftre # iy e siest & oeR TR S o e vt & IR %

[

e

- (e AP o (g [ufdedted Hawd g S @9
EREREE:) Eg )

2015-16 122 o5

2016-17 136 103

2017-18 151 115

2018-19 167 126

2019-20 177 132

Tg THd gU o a9 2019-20 & a1 Ufdoafad FHaw g o 1 i a9 2015-16 F 2019-20 BT 3afe ST 2iwd aiftie gis a2 (%)
SRIER Bl 6. o a8 2020-21 & 3fd B 3UHI IH (TR =94 H) F1 52

. 135.68
. 138.35
. 140.17
. 143.34

O 1
1

O 2
2

R R

O 3 (Chosen Option)
3 (Chosen Option)



Question No. 3 / Question ID 908001 Marks: 2.00

The following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 5
year period from the year 2015 -16 to 2019-20. Based on the data in the table. answer the questions that follow:

Ve Net National Income (in Lac  |Per capita Net National Income (in
ear
Crore rupees) thousand rupees)
2015- |55 -
16 122 93
2016- o
17 136 105
2017- |, -
18 151 11
2018-
7 g
19 16 126
2019-
0 177 132

‘What is the average per capita Net National Income (in thousand rupees) per vear?

. 103.25
L1146
. 1103
4. 108.6

i1 1 71 aferet J a9 2015-16 9 2019-20 T 5 T8 D A B SR YR Bl (Haa AP 1 (7@ B1s T8 H) 3R uideafad
e TP S (6STR 0 ) 3RITE 7 2| Aiferent & R U it 3 oNUR TR A Ry Mg et & 9 2

2 =

e L

- e APy o (@rg  [ufdedfed Haw g S @9R
TS EH) FH)

2015-16 122 95

2016-17 136 105

2017-18 151 115

2018-19 167 126

2019-20 177 132

it o wfd safd sird Fae AP o B9k 0 o) |1E?

.103.25
L1146
.110.3
.108.6
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)

Lo =

o 5]

O
O

A O®

Question No. 4 / Question ID 908002 Marks: 2.00



The following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 5
year period from the year 2015 -16 to 2019-20. Based on the data in the table. answer the questions that follow:

Vs Net National Income (in Lac  |Per capita Net National Income (in
Crore rupees) thousand rupees)

:1!2 b 122 95

'}g 16- 136 105

‘;ﬂg B 151 115

';g 18- 167 126

';;gl & 177 132

In which year the percentage (%) increase in the Net National Income over the previous year was maximum?

2019-20
.2018-19
.2017-18
4.2016-17

=it i 715 aiferet J a9 2015-16 F2019-20 AP 5 IY @1 3faf & SR YR B FHad AP 3110 (@1 P T4 H) IR vfdeaiad
fae g g eWR Ul ) 29is 7% 81 difeie 7 oy e sies! & suR W A fau 7yl & 9T &

L

o )

- oa g o (@re |wfdaaiad e adi om @SR
RIS T H) = )

2015-16 122 95

2016-17 136 103

2017-18 151 115

2018-19 167 126

2019-20 177 132

forg o fueset adf ot e 1 Fae gt s o ufawrd (v) g siftrean o0

.2019-20
.2018-19
.2017-18
.2016-17

L S B R

1
]

2 (Chosen Option)
2 (Chosen Option)

3

o O O O

3
4
4

Question No. 5 / Question ID 908003 Marks: 2.00



The following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 5
year period from the year 2015 -16 to 2019-20. Based on the data in the table. answer the questions that follow:

s Net National Income (in Lac  |Per capita Net National Income (in
Crore rupees) thousand rupees)

gg b 122 95

fg W 136 105

ig e 151 115

fg 18- 167 126

%g L 177 132

With reference to the year 2015-16 , the percentage growth in the population of India by the year 2019-20 is

1.~62%

2.~ 4.4%

3.~7.1%

4.~3.1%
- <t 778 cAIferesT 1 a9 2015-16 § 2019-20 T 5 a9 B 3G & SR URA 1 fHad A1 219 (@1 B1S T0g o) SR wfasafdd
fHae gt g (eoR Ul ) <9iE 7% § 1 difcier 7 oy e siies! & R W A faU 7y & SR E:

o aa Ty o (re  |wfdoaiad e aeiE o @SR
HIg Ul H) =y H)

2015-16 122 85

2016-17 136 105

2017-18 151 115

2018-19 167 126

2019-20 177 132

ay 2015-16 & g U, URd B! o8 | ay 2010-20 T [oba- Ul 9iG 537

1. ~6.2%
2.~ 4.4%
3.~71%
4. ~3.1%
1 (Chosen Option)
1 (Chosen Option)

O O O O
AP WOWW NN

Question No. 6 / Question ID 908006 Marks: 2.00



Which of the following are not the characteristics of teacher- centered methods of teaching?

A Students are passive learners

B. Teachers act as facilitator for learning

C. Teacher directs learning activities

D. Learning is based on collaboration between students
E. Learning is based on student interest

Choose the correct answer from the options given below:

LA, C&Donly
.B & E only
.B.D & E only
.A & C only

FrefeiEd o oH-i fasivard srerge diad e fafd ot fogman =2l 82

A foendff ffspg aiftrmedal g g1

B. U HERTH gd GHIAGdl & &9 H &1 Hd g
C. 3fsATge A Tiafafadl &1 SR e gl

D. 3fferm faenfiai & &= Tegimers snutiRd ufdar g1
E. Jifens faemedf aftefa snerfa siar g

= feu e fddedl | ¥ Yol 3R &1 904 S

LR S

E

1. AT A. C 3R D
2. PaAB 3IRE
3. $dd B, D 3R E
4 FaFAARC

1 (Chosen Option)
1 (Chosen Option)

o O O O
AP WOW NN

Question No. 7 / Question ID 908030 Marks: 2.00

'Sound is eternal because it is produced’ refers to which of the following Hetvabhasa?

. Badhita
. Virruddha
. Asiddha

. Savyabhicara

‘sg{= XTRad § FIfdh U8 30~ P WIdl & - I8 Y [ § ¥ [ e@ryT &f Ydod Sl g2

S O

1. S1fed
2. fdvs
3. 3R
4, AR

O
O

NN ==



(O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 8 / Question ID 908024 Marks: 2.00

The population of a village is 11000. If the number of children inerease by 11% and the number of adults increase by 20%,. the
population becomes 12660. Find the population of children and adults separately in the village.

. 7000. 4000
. 4500. 6500
. 6000. 5000
4. 5500. 5500

il 7ifq &1 ST 11000 €1 fS &= &1 = H 11% P 91 8ldl 5 SR 8] &1 W= 1 20% $1 91 8idl 8. ol SH@
12660 B OTel & | ST 71Ta § T=ai 3R 0] o1 ST 3T S5l J1d STl |

| S

e Lia

. 7000. 4000
. 4500. 6500
. 6000. 5000
. 5500. 5500
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)

| SR

N )

O 3
3
O 4
4
Question No. 9 / Question ID 908010 Marks: 2.00
Match List I with List IT q\zﬁ I IO1Y ﬂj{ 11 &1 e Sifon
LIST I (Three Approaches of LIST II (Disciplinary 1 F o9 UM II (ﬁWﬁ HTOTH)
Education) aspects) @G{mmlﬁd ﬂ?ﬁw 'H_ﬁ'ﬂ-ﬂﬁt_‘ﬂ
A |Teacher- centred 1. |Shared, Participatory - T
B. |Learner- centred II. lmposed B d’lir%d 1L [3RIIS .
C. |Learning -centrad I11. |Self-controlled C. |3ileFTH Bigd il EICEGEIED
Choose the correct answer from the options given below: CiE] ﬁq i) fomedl § 9 U6l S 1999 ﬁﬁl‘[{ -
1. A-III. B-II. C-I 1. A-IIT. B-II. C-I
2. A-I. B-II. C-ITT 2. A-1. B-II. C-I1I
3. A-IL B-I. C-III 3. A-IL B-I. C-III
4. A-IT. B-III. C-I 4. A-TI. B-III. C-I
O 1
1
O 2
2
O 3
3
(O 4 (Chosen Option)

4 (Chosen Option)

Question No. 10 / Question ID 908026 Marks: 2.00



In the light of 'Causation’ which of the following 1s incorrect?

A. Qualities of cause are accidental antecedents

B. The cause of the cause is not the cause.

C. The co-effects of a cause are themselves causally related

D. Eternal substance like space are not unconditional antecedents.

Choosge the correct answer from the options given below:

A &D only
.B & C only
. C only

.B & D only

BY-BRU & gEH T FEfatad U 9 SF-9 ouT sEa e

A. 75 R & 0 T gdaT B
B. ©RUI & HRUL, BRI 8! &

C. BRUT & Hg-UUd W 3H19Y § S-SRI & T4 U 9S 6ld ¢!
D. SRef oY ATRad Tary 3= gaqd Tel o

1= féu 10 fased! U Tl 3R &1 984 SBIfolu:

R e ]

1.PATA&D
2. $PaAB & C
3. $Hdd C

4, PdAB&D

o O O O
WWNN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 11 / Question ID 908016

If information flows from the media to the opinion leaders and from them to the target audience, the process is known as

. One-step-flow

. Two-step-flow

. Step-by-step flow
. Multi- step flow

fe Ga1 o1 ars Hifear ¥ fidd yordr da SR R 3791 e S1anTor o i 8. i 9 ishal dgad 8-

T O

1. U =XUT HdIg
2. fg =R yarg
3. h{T7e =R YaTe
4. §g 90U Udlg
O 1
]
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

Marks: 2.00



Question No. 12 / Question ID 908045 Marks: 2.00

Given below are two statements:
Statement I: University of Punjab at Lahore and University of Allahabad were established during colonial rule in India.

Statement II: The main reason of their establishment was the increasing demand in these places for higher education including 'Oriental' as
well as modern European education.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement [ and Statement II are true

2

. Both Statement [ and Statement II are false
3. Statement I 1s true but Statement II 1s false

4, Statement I 1s false but Statement II is true

fR S Py iy e

FYA : AER T USTd [GRalaeTed auT gareials [oxaidead &1 RIH1 YRd § SiuMafie we- & R gs ol
U 11 : 3] RITTAT S 80 PRI 54 VI TR <fiRiea 3R ye Rid e wigd 9= R1an &1 agdt 117 4|
SWRIK HYH & HTaid H. =i 34U T fdbedi # I 99 Sugdd TR &1 99+ HIfIu:

1. YT 3R 11 &1 9El &
2. PYT 1 AR 1A TTad &
3. YT 18l 8. A SY 11 7Tdd &
4. YT 1A 8, AT FUT 1 Fel &

1 (Chosen Option)
1 (Chosen Option)

o O O O
AR WOW NN

Question No. 13 / Question ID 908023 Marks: 2.00

Salary of a person decreases by 10% every year and his bonus increases by 24% every year. If his salary and bonuses at the end of 2020
were T 8000 and 2500 respectively. find the difference between his total earnings in March. 2020 and March 2022.

. Z 165, increase
. T 176, increase
3. 180, decrease
4. 7 176, decrease

it cafad @1 3d- Ul 9y 10% Tedl & 3R S9HT 919 YD a8 24% SdT ¢ | afe 719 2020 & 3id & 3BT 3a 3R 94
P =, 8000 3R F=. 2500 & A HH, 2020 3R M 2022 T D! D 319 & &9 3R Jid BIfoU|

o =

1.F. 165, 9f&

2.F.176. 9fG
3. 3. 180, DAl

4.3, 176, HHI



1
1

2 (Chosen Option)
2 (Chosen Option)

3

O O O O

3
4
4

Question No. 14 / Question ID 908025 Marks: 2.00

There are fifteen successive percentage discounts given in a series of 2%, 4%. 6%. 8% on an item. After how many such
percentage discounts in succession will the effective discount be higher than 50% ?

. Tth
. 10th
. §th
. Gth

ol T TR 2%, 4%. 6%. 8% &I e H Uge HHRT UIo=Id ¢ af ol ¢ | Tl a1 SanTd wiisd gl & a<ard JHTat
BT 50% W 31 gl S

L

R S
3, 8,5
Pt

O 2 (Chosen Option)
2 (Chosen Option)

O
IR

Question No. 15 / Question ID 908035 Marks: 2.00



Given below are two statements:
Statement I: (1011101), =(135)g

Statement II: (71)g = (111001),

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true

| B

. Both Statement [ and Statement II are false
3. Statement I is true but Statement I is false

4. Statement I 1s false but Statement IT 1s true

AR ACAUR g
FYAT : (1011101), = (135)g

DY : (71)g = (111001),
SURIGRI HY & AT 4, 14 4T T g edi T J 9a9 TUga TR &1 99+ Bl

CPYT IR I SH Tl g
Y1 R 11 & TTad §
 PYT 1 el 8. AP YT 1 TAd &
HYF1TAd g, AT BUT I T8 &
O 1

]

O 2 (Chosen Option)
2 (Chosen Option)

[N ]

e o

O
O

A O

Question No. 16 / Question ID 908017 Marks: 2.00

From the view point communicators language and other symbolic systems are

1. Inactive tools
2. Economic targets
3. Social targets
4, Cultural fantasies

9! o VD0 T U 3R 3 UdibTedd Yunfe’ o

o O O O
WW NN ==

4 (Chosen Option)
4 (Chosen Option)




Question No. 17 / Question ID 908008 Marks: 2.00

What are the various salient features of formative evaluation?

A Tt provides feed back to the teachers to use teaching strategies according to the needs of the learners
B. It helps learners to actively and continuously engage in learning

C. It helps in enhanecing the learning abilities of the learner

D. It contributes to the overall grading and certification of the learner

E. It 'sums-up' how much a student has learnt over a period of time.

Choose the correct answer from the options given below:

.B.D & E only
.C & E only
A B & C only
A &D only

i geied ! fafdy wE fagivand @1 g2

A. T FRiential &t sraxaedrsfl & ofJaR R1em1 0ol & W & g iemae| &1 9fagfP 0aH SRl gl
B. Ug frenfidai o1 iférm ¥ 9fthy SRk Uad =9 € 9o & 8 ermar s gl

C. gg et & S gerd &1 9gH & a8 dxdi ol

D. g frenfial & o9 9% 3R yAvE § geH #Rar g |

E. U5 el &1 us Sramafy 4 urd SifieTd & IR Ud Sedl g |

= feu e fadedl | ¥ Jol IR &1 904 S

I =

e L

1. $dd B, D AR E
2. FHaAC ARE
3. PAdA. B3R C
4. FAAAIRD
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 18 / Question ID 908039 Marks: 2.00

Carbon monoxide (CO). an air pollutant when inhaled readily binds with the hemoglobin in the blood stream to form a life threatering
compound known as

. Hemoglobous

. Carbo hemoglobin

. Carbon mono hemoglobin
. Carboxy hemoglobin

BIa I HFHSS (CO) U a1 YETP . Gl G o 1Y Od IR & & §Idl 6 df ¥ekd URT H SURYd SrHRciie o 91y qed
ey wita- & fou uTa® e aiffd & (A0 &edl 6. i SgT ol & -

L R

chea

IRREESIEE]

2. P igHrara

3. 1A A1 fearafed
4. FrEia! ferrafes



o O O O
WWNN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 19 / Question ID 908018 Marks: 2.00

Which of the following are true in the case of audience for analog media? They are:

A Personally addressable
B. Active campaigners

C. large

D. Heterogeneous

E. Anonymous

Choose the correct answer from the options given below:

A B.Conly
.B.C.D only
.A.B.E only
.C.D, E only

TG HifEar & g & ama E fefafed § Y oA adt 8 9 € -

A G =9 Y Gaie=g
B. Iftp fftamasdl
c.gar ey

D. faug

E. 3H

i fau U fadedl § 9 9al 3R &1 90 Hifole:

S o

1. FATA. B AR C
2. $ad B, C 3RD
3. BT A. B IRE
4. %ddC, D 3RE

O O O O
WWNN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 20 / Question ID 908042 Marks: 2.00



Given below are two statements:

Statement I: The NEP2020 recommends the establishment of an academic bank of credit to facilitate the transfer of credits between the
mstitutions.

Statement II:One of the objectives of NEP2020 is to increase the number of multidiseiplinary institutions in the country.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

2

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false

4. Statement I 1s false but Statement II 1s true

Ry e

UL :Hﬁfﬁgggrﬁ‘rmﬁ) 2020 B 131 & o STy & SiaR0T o GiaeT & [y sbsi® 9o 3i1H hise B W B
RmiR= &1 718 8|

YA 11 : T 2020 B Iex01 H 9 UF. <9 ¥ Sglavwae dwirsii ) 9= 1 ofg s 8|

SWRIK HY & HTaid H, =i 34U T fdwedi § I 99 Sugdd TR &1 99 HIfuIg:

1. YT 3R 11 &1 I8 &
2. FYF I AR IS TTEd &
3. BYT 18I 8. Al HYF 11 7Tdd &
4. PYT TG 6. AT SUT I TS &

O O O O
WW NN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 21 / Question ID 908033 Marks: 2.00



Given below are two statements:
Statement I: Internet is commonly used service on the World Wide Web.

Statement IT: HTTP is the protocol that web browsers and web servers use to communicate with each other over the Internet.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement [ is true but Statement I is false

4. Statement I 1s false but Statement IT 1s true

R PEicume:

PYF : Sex-e, Afg® d9 (eeaI5s dd) T IR 9 ¥ SIHId gHar Yar gl

HYA 11 : HTTP G WA & ol a6 HISoR 3R 99 Fa¥, 3ee-ie R U gux I TU0 - & 7Y 7ai xd ¢ |
IURIF HYH & el 4, i f4U MU fasedi & I Jel Stk &1 994 Pifoiu:

L FYIAR IS 9T 8

2. HYF I AR GH! 3T &

3. PUTI YT 8, AP HY 11 39T ©
4. FYFI IR, AP P n a8

1 (Chosen Option)
1 (Chosen Option)

o O O O
AR WOWW NN

Question No. 22 / Question ID 908019 Marks: 2.00



Given below are two statements:

Statement I: The centralised control of signs and symbols of mediated communication may affect plurality of opinions on the Internet.
Statement IT: The global corporate owners of Internet companies aim only at profits. not the existence of pluriverse.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true

| 8]

. Both Statement I and Statement II are false
3. Statement [ is true but Statement I is false

4. Statement I is false but Statement II 1s true
fR G pyE RRum
DY 1 : Adied HUYUI & Habdll SR Tdl] D] dsidd YAV Se-1e IR Sl & agadl I YHIad &R gbdl o |
BYA 11 : Se3C HUHE! & dIRad SRUNE AND| BT 3589 Had Ay HHH IdT 6. 7 [P ggadl STRG oid (Q[Ras) BT 3ifkid
ST G|
SWRIGT HY & e H, A1 [3U 70 fgwedi § 9 981 STk &1 98- DI

HYF AR IS Td &
PYTI R I ST 3T ©

HYTI TR, AT ST 11 3T &
HYA AT, A HU I a8

=

S ]

o O O O
WWNN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 23 / Question ID 908015 Marks: 2.00



A researcher obtains the following p-values for sample correlation coefficients of different samples. Which of these can be considered
significant at 1% level of significance?

A. 0.004
B.0.99
C. 0,995
D. 0.001
B 0:1

Choose the correct answer from the options given below:

.B & C only
.B.D & E only
.A & D only
.B.C & E only

U SHuHl [l wiaex & ufagsl geddy quie! & fou Fefalad p-am urd oxar g | FEfafed 3 9 69 19 ardear
TR R e A1 o gl 57

o —

= )

AL 0,004
B. 0.99
C.0.995
D. 0.001
E. 01

=i fau U fasedi § 9§ 91 3TR &1 99 HIfolg:

1. HadB AR C
2. %gdB. D 3RE
3. %dd A AR D
4. $ad B, C 3R E

o O O O
WWNN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 24 / Question ID 908012 Marks: 2.00

Which aspect of the researcher may cause psychosocial effect in the participant of a study?

1
2
3. Sex
4

aﬁj,%iinamu?ﬁ &= I Ug] [hdl 00 & WAyl o g=RIHIioe WHIG STd Sahdl 87

5743
373

o O
NN ==



O 3
3

(O 4 (Chosen Option)
4 (Chosen Option)

Question No. 25 / Question ID 908031 Marks: 2.00

A smart home application that automates the controlling of lighting, temperature, entertainment system: and appliances is an example of

1. Evolutionary computing

2. Nature- inspired computing
3. Bio- inspired computing

4. Ubigquitous computing

% W12 811 Ul e Sl T, digs . HARoH JuIel iR Iuavll &1 Wa: Fufa o s, fAefafag &1 3w e:

WW NN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 26 / Question ID 908028 Marks: 2.00



Match List I with List IT

LIST I (Fallacies) | LIST II (Description)

. |Bandwagon Argument] I |Arguer misrepresents an opponent's position.

. |Stravwman Argument | II. |Arguer assumes the point to be proven.

F.ed herning Argument] I11. |JArguer appeals to reader’s or listener's desire to be accepted or valued
. [Begging the question | IV. |Arguer tries to distract the attention of the audience by raising irrelevant 1ssue

w] lo] [+=] b=

Choose the correct answer from the options given below:

1. A-II. B-IV. C-L. D-III
2. A-IV. B-II. C-III. D-I
3. AL B-L C-IV, D-II
4. A-L. B-III. C-I1. D-IV

e 1o 1Y Gl 11 DT e Sifse

ﬁ?ﬂl(ﬂﬁ\ﬂ) ¥ 11 (ferERn
|dsd= gida | 1 [giad & ara [qual @1 saieyid ol TTed Uedd $idl o
B [eragida | 1 [gidd ¢ aral ¥ fohd o dicll oid ! |19 @< gaidl o
c. kEef afea | 11 [giea & aren urew a1 4id] &1 9 & HeddH a1 1 WIdR A1 gl @1 ATDIET Bl AP Hd Hdl 8
D. [sreiyg e | 1v. [gfad 2 aren gidrel &1 AH g2 & Y s U1 & 381l &

i U 70 fadpedl 5 O Ug1 3R & 90 B

1. A-II. B-IV. C-1. D-ITI
2. A-IV. B-IL. C-III. D-I
3. AL B-1L C-IV. D-II
4. A-L. B-III. C-I1. D-IV

O 1 (Chosen Option)
1 (Chosen Option)
O 2
2
O 3
3
O 4
4
Question No. 27 / Question ID 908020 Marks: 2.00
Negative communicators usually express
g y express A s g
A. Verbal softness B. HI=MTdl
B. Optimism c. FR=mmare
C. Pessimism D. Ay
D. Resentment E. sifawarg
E. Distrust
Choose the correct answer from the options given below: e feg My HA el o '
1. A B.Conly 1.9d AB;;;C
2.B.C.D only 2. PaTB, C D
3.C.D.E only 3.%ad C.D 3R E
4.A.B.E only 4. Pdd A, B 3IRE
O 1

1

2



(O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 28 / Question ID 908043 Marks: 2.00

"We become builders by building and we become just by doing what is just” In the light of this statement what can not be asserted?

1. Man is a virtuous being

2. Virtues are like skill

3. Skills are acquired by performing relevant activity
4. Virtue 1s a mechanical and non- ethical skill.

«gq i & I [Aafued] §9d § R O O0ETd &1 § 39 31 § UOd 99d o1 59 $UF & ATAld J 90T Sd & 91 T8l

Sl ol 9 dT 87

1. 7 U Tt o B

2. T[0T BN b FHH g

3. DI YIS forarean S sfoid fFU o € |
4. 701 U FiiHe 3R AP DA gl

O 1
]

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 29 / Question ID 908036 Marks: 2.00

oia fafauar gt siftrama (@idEh o1 gfuarey sef fRud 22

Secretariate of convention on Biodiversity (CBD) is situated in

1. Geneva, Switzerland 1. S, 8 Cﬁdﬁ N
2. New York. United States 2 If :
3. London. England 3% _a; . 5’?1“3
4. Montreal, Canada 4.9H ECIEI- IS
O 1 (Chosen Option)
1 (Chosen Option)
O 2
2
O 3
3
O 4
4

Question No. 30 / Question ID 908021 Marks: 2.00



What number would replace question mark (?) in the series given below? EIEKRIF 9{@?” b (?) aﬁﬂ & WH R HH-G1 TE= syt

3.8 37,32, 57, 2. 177 3:8. 17.32.57. 2. 177
1. 100 1. 100
2.89 2. 80
3,05 3.95
4,106 4,106
O 1
1
O 2
2
(O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
Question No. 31 / Question ID 908013 Marks: 2.00

Given below are two statements:
Statement I: In a ratio scale, zero point is arbitrary
Statement IT: The nominal scale allows ordering/ranking of data

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true

[ )

. Both Statement I and Statement II are false
3. Statement [ is true but Statement IT is false

4, Statement I 1s false but Statement II is true
:ﬂ%ﬁmﬁqﬁ:ﬁ fIgad=s slaic
PYAT : I T f§g 1
DY 11 : 1T A9 3fips! o1 o Ry /e Fulo o staear g
SWRIK DY & Haid H, 14 40 T fdhedi § I g9 Iudd TR &1 99 HIIL:

1. BYT I AR IS T8 &
2. HYF I R 11 TTad ©
3. HUYT IR g, AfF T sy n Ted ©
4. HYF 1T €, AT YT 1 Tel &

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 32 / Question ID 908044 Marks: 2.00



In the light of Buddhist system of education student was expected to follow Das Sikha Padant' Which of the following dose not represent
the code of conduct:-

A. To avoid food at odd times
B. To avoid untrue speech

C. To relish music and dance
D. To avoid stealing

E. To accept gifts in charity

Choose the correct answer from the options given below:

A&B
B&C
.C&D
C&E
ﬁl&‘fi‘%&nuﬂnﬁﬁ&? e o faendf § g9 fagwr gei= &1 ua &3 ©f suen &1 115 off | FEfefag § @ a1 R digar o1 el

A 3THY HiSH Tl HAT

B. 8 F8l die|

c. Titd 3R I &1 3irg a1
D. IR Fgl A

E. GF ¥ SUER WIHR &A1

+id fau U fadedl § 9 9ol 3R &1 99 Hifole:

o =

[ )

_A3RB
B3RC
.C3RD
.C3IRE

TS R R

o O O O
WWNN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 33 / Question ID 908038 Marks: 2.00

FrAfaREa 8 9 oH-0 wielas diHesy 19 (Sidgs) g2
A. CO, (FPTE STEHFES)

Which among the following are Natural Green House Gases (GHGs)?

A. CO, (Carbon dioxide) B. H,O (SI¢ dI™)
B. H,0 (Water vapor) C. CH, (H1g7)
C. CH, (Methane) D. 04 (S-hk_Iﬁ:D
D. O3 (Ozone) ;
E. CFC (dv QIEE'R @ é'_ﬂ
E. CEC (Chlorofluorocarbon)

= [Eu e fapedl | ¥ Jol IR &1 994 IV

Choose the correct answer from the options given below:

1. AR, C, Digaly 1.$adA. B.C.D
2.A.C.D.E only 2. HAUA.C.D.E
3.B.C.D.E only 3. ®duB.C.D.E
4.A.B.C.Eonly 4. PATA.B.C.E
o1



O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

O 4
4

Question No. 34 / Question ID 908029 Marks: 2.00

When inference is based not on Causation but on Uniformity of co-existence as in the case of inferring cloven hoofs of an animal by it's
horns: it is called

1. Purvavat Anumnana
2. Segavat Anumana

. Samanyatodrsta

. Paksadharmats

@ SEH S-SR He TR HYUIRT Ta] 61d] dich Te-Hd DI UhEgdl R ARG Bial 5. ol Rifll & YR &R (& 0y &
faiot R @ 3T L 9 59 e FEd E -

S S

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 35 / Question ID 908009 Marks: 2.00



Given below are two statements:
Statement I: A learner's cultural background has no impact on his/her learning experience,
Statement IT: Gender is not a strong predictor of academic achievement.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement [ is true but Statement I is false

4. Statement I 1s false but Statement IT 1s true

YA : e gy &I 3{Yd IR I3 YHIE T8l Usdl g |
FY 11 : ATl &IE THIG &1 vad FuRS el 6l
SWRIGT HY & HTaid H. 14 34U T fdbedi H I 99 Iugad IR &1 90 HIIC:

1. PYTI AR IS T8l &
2. HYF I AR IS TTad o
3. FYTI9el 6. Aff T FyF I Tad ©
4. FYF 1T, AT BUT 1 Tel &

1 (Chosen Option)
1 (Chosen Option)

o O O O

AR WWNDN

Question No. 36 / Question ID 908027

Identify the fallacy committed in the following argument:

1]

"There must be intelligent life on other planets. No one has proven that there isn't".

. Appeal to ignorance
. False alternative

. Slippery slope

. Hasty Generalization

=TaRad giaa & saHigd adbar & 9gdr B -

L O R

IR U6l IR M §fSAM e g1 a1feu| 3l d@ ois i T R T8l ax udi ¢ [ U el g1

1. WIS gidd
2. 3 fadeq

3. [P gToged earH
4. TSGR FraTIHIo

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

Marks: 2.00



Question No. 37 / Question ID 908014 Marks: 2.00

Given below are two statements:

Statement I: The standard deviation of a series of repeated measurements estimates the likely size of the chance error in a single
measurement.

Statement II: Bias affects all the measurements the same way. pushing them in the same direction.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement [ and Statement II are true

2

. Both Statement [ and Statement II are false
3. Statement I 1s true but Statement II 1s false

4, Statement I 1s false but Statement II is true

TR ey

gﬂF[I . GR-GR U 770 H1Y=] 1 @l & HFD fa=er I fohl v AU & G Jfe & GHIidd DR BT SIHIE T Sild]
|

U 11 : qarre G AT & THE e 9 yuIfad SRaT 8, S UP of fa H ydbadi o

SWRIKT HY &b el H, 14 [4U 70 g edi T 9 99 IUgdd TR &1 99 Hifolu:

1. HYF I R 11 ST Tel &
2. FYT 1 AR IS TTad §
3. HUTITE . AT YA N Tad ©
4. HYF 17T0d 8, Wi FUF 1 Fol &

1 (Chosen Option)
1 (Chosen Option)

O O O O

A WW NN

Question No. 38 / Question ID 908011 Marks: 2.00



Which among the following would be the ethical 1ssues in a research study that involves participation of human subjects?

A. Lack of informed consent

B. Physical and psychological harm
C. Excessive inducements

D. Debriefing

Choosge the correct answer from the options given below:

A B &C only
.B.C & D only
A C&Donly
ALB.C&D

fore SrHYT Sferg= O Tl 1 Ui HIATET Sl 3 SuH MEfad 8 € ®F 9 Afdddl Sael ge, I 3 82

A. giq=TRd WeHfd &7 314d

B. YIRIR® SR g4I 54

C. 3Ii®d JerHT

D. U9 & SR H SHPRI &1 (S Hifth)

= feu e fadedl | ¥ Jol 3R &1 904 S

R e ]

1. $ITA. B3R C
2. %ad B, C IR D
3. Pad A, C 3R D
4 A.B.C3RD

o O O O
WW NN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 39 / Question ID 908022 Marks: 2.00

If in a certain code 'Generalization' is written as 52627134819406 . how the word 'Oreganos’ be written in that code?

. 07521680
. 07251608
. 07251806
. 72085106

e fadt P HM T 'Generalization' & 52627134819406 & &1 ¥ [orRa1 oId1 5. 1 59 P HIE T 'Oreganos' T3 Bl oy o
SITET?

S B

. 07521680
. 07251608
07251806
. 72085106
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

b2 =

P ]



Question No. 40 / Question ID 908034 Marks: 2.00

Which of the following statements A-C are correct about a Hard-Disk Drive (HDD) used as a storage device in computer?

A It has no moving parts
B. It is non-volatile
C. It uses magnetic properties to store data

Choose the correct answer from the options given below:

A & B only
A & C only
B & C only
AB&C

F=aRed duAl A-c T 9 oF 3 igex] § € [ga1sd & 4 § W 816 [S% $15d (U9eis)) & aR & Hel 67

A. Eﬂﬁﬁ%ﬂmﬂ%@ﬂ(@ﬂ%ﬁﬁﬂ
B. g8 H-diderga gidl
C.Tg 3PS & USRI %ﬁ‘ﬂ?{ TP T[0T &1 YA Bl 5

I feu U fadedl § § Il IR &1 99 il

el

1. F$ad AR B

2. PATASRC

3. FaaB 3R C

4. A.BIRC

O 1
]

O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

O 4
4

Question No. 41 / Question ID 908032 Marks: 2.00



Identify the correct order of the term A-E given below that completes the paragraph decribing a method of operation for a keyboard.

A computer keyboard has a key matrix underneath the keys when a key is pressed. it presses a switch that completes a ’
This allows to flow. The location of the key pressed is . The location of the key pressed is compared to a
map to find the value for the key that has been pressed

A. Binary
B. Calculated
C. Character
D. Circuit
E. Current

Choose the correct answer from the options given below:

B2

> 0o
M O m O
W W W
nmon
[ e S S

B

A1 3T U A-E 0% & Ugl (e) P Ue! 3 &I [Kigd &L Sl $1-41S & WIeH &1 WUl &1 auiF d-dTel URFTS &I O=1 5l §
TF PR P DI-a1S H Poll (D) & 1d DI-ACad BIdl ¢ | 5a ‘DI DI GaTdT ol § d1 399 U 1% &aal g off &I IR

FXdl ol g yalied &1 @7l | GaT% s ‘B B fafyfd Bidl 8| a18 TS B B afufd 3 o UD
AR T &1 Wt § @ifds <a1g 78 P BT I T foar o T 1
A FSIR (g 3R
B. 70T
C. BaeY

D. 99y (fdhe)
E. fdgga urr

=t fau U fasedi § 9§ 981 3R &1 99 Hifolg:

MmO
W W w

J—LAJIJ'—‘
» 0o
oMo o
o e e e

1
1
2
2
3
3

4 (Chosen Option)
4 (Chosen Option)

O O O O i:

Question No. 42 / Question ID 908041 Marks: 2.00



In the beginning of the 20t century in 1902, there were important engineering colleges at

A. Roorkee

B. Madras

C. Kanpur

D. Sibpur (Bengal)
E. Poona

Choose the correct answer from the options given below:

.A.B.D only
.A.B.D &E only
.A B.C &E only
4. D only

200 € & URY T 1002 ¥ Ae@yul Sfara sl &gt 42
A TSP
B. H&N
C. HHEAR
D. R (F711)
E. ¥l
I feu e fasedl § ¥ Jol IR &1 999 BT

1
2

LF¥)

1. $dTA. B IR D
2. %ddA.B.D ARE
3.PdUA. B, C 3R E
4. ®dd D

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 43 / Question ID 908007 Marks: 2.00

Which of the following is a tool used for creating and sharing online learning games?

. Mentimeter
. Padlet

. Kahoot

. Zoom

SATATEA T Fal & gor SR I=ieR! § FEfafed 8 9 SH-3 39 &1 wai a1 o1 82

o=

e

1. AfeHdiex
2. Usde
3.%gd
4.9
o1

]

O 2 (Chosen Option)
2 (Chosen Option)



Question No. 44 / Question ID 908037 Marks: 2.00

Which one of the following is included while estimating Air Quality Index (AQI)?

. N,O Nitrous oxide
. NO, Nitrogen dioxide
. N,O5 Dinitrogen trioxide

=

EES ]

. N,O5 Dinitrogen pentoxide

AR TUIa] JAH1® (TEG3HTS) 1 0T $Rd 9ag Hefaad 8§ ¥ [we! i far orar g2

1. N,0 (A5cH HaIgs)

2.NO, (AIZEIoH SIE3HIdEs)

3. N,0; (SEAECIEH TRAIHRIES)
4.N,0; (SIEAECIoH UIagES)

1 (Chosen Option)
1 (Chosen Option)

O O O O
AR WOW NN

Question No. 45 / Question ID 908040 Marks: 2.00

Which of the following is a chemical treatment in water treatment process?

. Filtration

. Sedimentation
. Coagulation

. Screening

o WA wichan 8 AEfafad § 9 oH-91 Ue I9aHe i 82

R R

1. g

2. HdHIGA

3. WA

4. JYGHI (BBIFT)
1

1

2 (Chosen Option)
2 (Chosen Option)

3

o O O O

3
4
4

Question No. 46 / Question ID 908049 Marks: 2.00



Read the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream. lakes, wetlands and reservoirs). India could be a
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person. per annum. India
falls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiseriminate
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploited.
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such vnits remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India.87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion. as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

Which of the following states have been found to have high number of over exploited units of ground water?

A, Rajasthan and Delhi

B. Punjab & Haryana

C. Uttar Pradesh

D. Tamil Nadu & Karnataka
E. Madhya Pradesh

Choose the correct answer from the options given below:

A B.C &D only
A B. & D only
.B.C.D & E only
A BE. BB

R S ]



T &1 9fed SR e Ui & IR i

YR ST -9 SR Gde] oid (e dl, TauRTSH, Shal, TeyfEa! 3R SR St 19 f&Ufd f 3@d §U. 3T 40 a1 § U@
TE-31HTG ATl 7 &9 Yol 5|

uia safdd uia 9y 1486 THTER (~ 1.5 Ffta= diex) @1 9a &1 Sya=iar & 9y, YR Sd-atit (e 3 940 & a1 g1 1000 99
e uf cofad ufd o ¥ &H TR R o1 91 U8 9d &1 s St H1 9uit 5 s |

e 1 @Yd B il 1 TR B A §¢1 31§ | Pag o 9IS (Seiseygdl) & AP adid § [ 4-57a & Tty e g
2022 H 39 0 e SATebferd 7089 5q:|5u|'ﬁ@r4%ﬁﬁws‘m§%wﬁ?149-aaﬁa{i?l-ﬁ%ﬂ$wﬁa{wﬁﬂmwgl

g5 fRUfd 2017 1 3if¥e SaR M 99 17% SH15d1 &1 sifd-glg g U1l faft=1 gaaRur siiv TReyor garl 9 @y gof 8 WReg Uors.
RIS, A, [Eeel, aiaTg SR PAled oY sl O Ul so1gdl ol 9@ &f9e a1 83 o

YRA H. 87% Y511 [3ATg o (oY [HebTel Sf1al § 31 [a2Ivs S8d ¢ I O ay R SA1ee H-ofd (HshNUl, 1o P KR 9 Bl
Y ST HRUI & Fi TTHR0T WUfiE =9 3 AFRE 8 81 8l o | GORi SiR, STamm! & tfasauT iR el sk saemrei #
SO (3UTRY) 5Td & fawei- 3 Fdel ofd SureHi 4 Bl 315 ¢

FEfaReT O 9 SH-51H 1 Tl § Y9-9d 31 ifd-algd @ Tg shigdl it e § g 71 87

A, IR 3R e
B. UaTd 3% g
C. W USY

D. TG 3R BAles

E. UG
= [Eu U fadedl | Y ol IR &) 904 S

1. %@ A. B.C3RD
2. %@ A, B AR D
3. %@ B.C.D #RE
4.A.B.C.D.E

O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

Question No. 47 / Question ID 908046 Marks: 2.00



Read the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream. lakes, wetlands and reservoirs). India could be a
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person. per annum. India
falls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiseriminate
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploited.
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such vnits remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India.87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion. as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

India will become water-scarce country if the availability of water per person per annum falls below

~ 1 million litre
~ 1.5 million litre
~ 1.2 million litre
~ 100000 litre

T &1 Uey SR HE w=Al & 3R difve:

YIRd U 1-5Td SR Fag! ofd (et Tayrrst, Shal, sreyfial R Semsmh) &1 A Rufd &1 S8 gU. o7 40 a0 § T
OIC-31HTE aTel 81 & Febdll o

uia i wia a9 1486 THTER (~ 1.5 Hfea= diex) & 9 &1 Suaeiar & Ty, HRd Sd-atit (3feqan & 9o § smar g1 1000 99
Htex ufd aofad ufd o ¥ &0 TR R o1 R U8 9d &1 s $Ht $t 9uit & 3 smum|

el I U Bl cRieT T T i e del odl 6| P4 H-od 8IS (Helseygal) & 3HPs Faid o [ Y-o7a P STy Jar 4
2022 H 3 8 Pl SATobIerd 7089 5q:|au|'ﬁ@r4%ﬁﬁwﬂ€m€%ﬁﬁ14%aﬂa{i?l-a°ri?x'ﬂav‘wﬁa+1$ﬁmeW%|

g5 [RUfd 2017 § 3ife SaaR ol 96 17% §15dl 1 Siid-algd gl Ul 3l gaaRur 3R HReor gl 8 @y geil & W uele.
o1, g, feeeh, afiemrg ofk @iead o Ioal & Ut gargal o T i &1 g5 8l

URA H. 87% Y- 1&g & AU HabTe ol § SR [a29s ®gd ¢ & O o 1R SANi® Yo [y, 4 -§d $I W) ge- &
HaH §51 BRI g Fifch TTHRU Wi 0 3 A H €1 811 8| GER1 SHIR. STl & SAIcspHul 3R Afedl 3R srayrist §
ST (3M9IY) 5Td & [ago 3§ Tdel od Sare=l d 315 ¢
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=

HRd Sl 31HTd g7 &1 of wew g ufer cafe ufd of wid &t Sudesar e 3 o 81 widt &

1. ~ 1 e diex

2.~ 1.5 [femA diex
3.~ 1.2 A stz

4. ~ 100000 fHerT= diex

O 1
]

O 2 (Chosen Option)
2 (Chosen Option)

@)
@)

A O

Question No. 48 / Question ID 908048 Marks: 2.00



Read the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream. lakes, wetlands and reservoirs). India could be a
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person. per annum. India
falls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiseriminate
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploited.
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such vnits remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India.87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion. as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

Assuming that the total number of ground water units assessed by CWGB in the years 2017 and 2022 were same (i.e. 7089). What is the
difference between the number of over-exploited units in 2017 and 20227

213
n 216
~ 260
~ 354

T 1 ufed R i wl & TR <o
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Read the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream. lakes, wetlands and reservoirs). India could be a
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person. per annum. India
falls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiseriminate
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploited.
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such vnits remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India.87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion. as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

Tdentify the factors responsible for depletion of water resources.

A, High consumption of water in agricultural sector

B. High consumption of water in Commercial sector

C. Encroachment of water bodies

D. Excessive water use in domestic sector

E. Discharge of untreated waste water in rivers and streams.

Choose the correct answer from the options given below:

1.LA.C.D & E only
2.A B.C&E only
3AB C,D,E
4 A C&E only
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Read the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream. lakes, wetlands and reservoirs). India could be a
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person. per annum. India
falls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiseriminate
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploited.
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such vnits remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India.87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion. as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

In the year 2022 how many units of water assessed by CGWB were found to be over-exploited?
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